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Find the exact value.

- In
1. cosZLé"co 2\6°— in25°sin20° e éir—+ isin—
) S sin25°sin20 2) 51n16cosl6 00516 T

UD+\/0 o E = E
Cos (25°+ 207) =cos 45°= \1__;?_—_ ﬁ-ﬂ(gJ%—g): d’/ﬂ(‘/)’ Z

B e ey e

B .r...,-.«.‘ e e R T e T
LAY A‘ ¢ "" 4

v g e 4y BT T WO

F md tlte exact value of the. sme, cosme, and tangent of the angle by usmg the sum and dif _[ference formulas
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Find gl e exact value of the sine, cosine, and tangent of tlze angle by using the half angle farmulas.
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Find the exact value of the trigonometric function given that s
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Write the trigonometric expression as an algebratc expressmn
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'Fmd ol solutions of the ¢ equation in the interval [0 27).
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Find all solutions of the equation in the mterval [0, 27:).
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Use a doub[e—angle formula to rewrzte the expressmn
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Find all solutmns of the equatmn in the interval [0, 27).
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Use the prod uct—to-sumfarmulas to write :e.a‘cl'-hr p}odc:ét;z; d su_m or dij'feréniée. |
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Use the sum-to-product formulas to write each sum or dlfference as a product.
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Fmd all solutwns of the equation in the mterval [0 27:)
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